Year 5 Homework, Spring Term Week 6 2
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1. 144-79 =
1. 145-72 = 2. 56 x6 =
2. 56x>5 = 3. What is 43.9 x 100=
3. What is 43.9 x 10= 4. Which number is closer to 6?
4. 145+ 3= 61, 58 6.5
5. Which is bigger? 5. Which is bigger?
4x120r8x6

7x70r8x6
6. What is the name of this shape?
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Reading Comprehension
Please complete the reading comprehension.

6. What is the name of this shape?
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Core Support

there adverb 2. Below are the bedtimes of 3 friends. Who goes to
their advert bed the earliest?
they’re adjust

were admit

we’re advent

where admire

wear gave

rain take

rein cold

reign told
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Homework is due in on 15t March




